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QUESTION 1

True or False: The Scrum Framework encompasses rules or guidelines for architecture?
A. True

B. False

Correct Answer: B

QUESTION 2

What is an ideal size for a Scrum team?
A. 13

B. 4

C.7

D. 10

Correct Answer: C

QUESTION 3

You are the Scrum Master. The Sprint will complete in two days. Each day of the Sprint is equivalent to 8 hours. The
team has just enough time to complete all tasks in the remaining 16 hours with the exception of three tasks. Of these
three tasks, two tasks (a total of 6 hours) are required to complete one Product Backlog item and one task (an estimate
of 2 hours) is required to complete another Product Backlog item. How should the development team handle the
remaining three tasks?

A. The development team should negotiate with the Product Owner on the definition of "done".

B. The development team should work the extra 8 hours to complete their commitment to the Product Owner

C. The development team should place the two Product Backlog items back onto the Product Backlog

D. The development team should keep the three tasks on the Sprint Backlog for the next Sprint and complete those
tasks first

Correct Answer: A

QUESTION 4
How should items in the Product Backlog be ordered?

A. Alphabetically first and then by list order in the Product Backlog



B. Grouped by business features first and then chronologically by date of original business request
C. Prioritized by business importance first. The items that result in biggest ROI, must be priorized first
D. Chronologically by date of original business request first and then by list order in the Product Backlog

Correct Answer: C

QUESTION 5

Which two of the following are reasons for considering Agile? (Choose two.)
A. Evaluating Data for Agile Marketing

B. Focus on Customers

C. Focus on Employees

D. Evaluating Data based on Current trends

Correct Answer:. AB

QUESTION 6

What is the recommended size for a Development Team?
A.6,+3 or-3

B.9

C.6

D.7,+2or-2

Correct Answer: D

QUESTION 7

How could the team and other stakeholders know if a product backlog item is done?

A. They should ask to the member\\'s development team

B. They should compare what was done, against the definition of Done established by the Scrum Team
C. Ask the Product Owner

D. Ask the Manager

Correct Answer: B




QUESTION 8

Which of the following are the two features of the Scrum Teams? (Choose two.)
A. Rules of Etiquette

B. Cross-functional

C. Process Oriented

D. Can have multiple Product Owner\\'s

Correct Answer: AB

QUESTION 9

It\\'s come to your attention that some team members feel that Carlos is a negative influence on the team. You can
certainly understand why -- he believes that everything is doomed. What should you do?

A. Remove Carlos from the team.

B. Use Carlos as an asset, particularly during risk identification
C. Ignore him and hope it goes away

D. Escalate the issue with the higher authorities

Correct Answer: B

QUESTION 10

Who defines the Sprint Backlog scope?
A. Product Owner

B. Development Team

C. Scrum Master

D. Stakeholders

Correct Answer: B

QUESTION 11

A line in the Agile Manifesto reads, '
the statement.

over following a plan”. Please select which option best completes

A. Soliciting input

B. Asking the customer



C. Responding to change
D. Completing requirements

Correct Answer: C

QUESTION 12

Why does Scrum prevent Product Owners from changing Product Backlog items that are being worked on during the
Sprint?

A. The development team cannot meet their Sprint commitment to complete work if requirements are changing
B. A Sprint cycle is not enough time for senior management review and approve changes

C. This forces Product Owners to focus on what is really important for the team to develop.

D. The development team must be able to limit the Product Owner authority

Correct Answer: C
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